ExTc - IT Cold)
A+ M - TL.
(OLD COURSE)
Q.P. Code : 4677

14|5)15™

(3 Hours) [ Total Marks : 100

N.B.: (1) Question No. 1 is compulsory.
(2) Atterapt any four questions from question no. 2 to 7.
(3) All sub questions of any question must be answered togethter.

. (a) Find L [Sint Sin 3t sin 5t] 3
K
(b) Find z transformation of 1 k=1 5

(c) Show that every square matrix A can be uniquely expressed sum of Liermitian 5
matrix and skew-hermitian matrix.

. )
- X
(c) Find the fourier series of (x)= (RT] in the interval 0 < .1 <27 5
Oo(sin 2t +sin3t) o 3n 6
(2) Show that J : =
0 te
1 N ) 0]
- PN S
(b) Show that o 2 e V2 0 : 13 unitary hence find A™'. 6
0 0 2
(c) Find the Fourier Expansion {5 f(x)=,/1-cosx in (0, 2 T), hence deduce 8
e 8}
1 1
y—-1
T -1 2
. /
. (@) Solve (D"+2D+5)y=¢e'sint giveny(0)=0,y (0) = | 6
(b) Find the Fouiier series of
f(x)=cosx -n<x<0 6
=8  D<r<R
(c) Sclve the equations by Gauss seidel method 8

23x+ 4y- z=32
2x+ 17y +4z=35
X+ 3y+10z=24
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4. (a) Rtg@pq,gmﬁw,@@%ﬁx 1 axe ovthogoenel

7, ove~ (-1-1])
(b) Find the non-sigular matrices P and Q such that PAQ is normal. Where A is
e
32
. A=
given by i 43
2.1 3

(¢) Find the inverse Laplace Transformation

2 3
o gl e ek 10 s b LS
(i) { Og[ Zi25)| @ S+12 (-]

1

5. (a) Find the inverse Z - Transformation f(z)= ?zt—3) (z-2)

(b) Find the fourier series
fx)=2x-x* 0<x<3

(c) Investigate for what values of A, p the equation x+y+z=6,x+2y +3z2=10
x+2y+Az=p have
(i) nosolution (ii)  unique solution (iii)  infinite number of solution

6. (a) Find z transformation of 7. [ a cos ka + bsinka] k>0
(b) Find the complex for:x of Fourier series f (x) =coshax+sinhaxin [-n, n]
(c) Find the Laplace Transformation of
d(1-cos2t)]
G L -~"=(~**“~]J

ary ot

(i) L [tsin’t]

7. (a) Find (e Laplace transformation of
f(y=E0<t<a
=-E0<t<2a, f(t)=1{(t+2a)
(k) Obtain half range cos series

0
1
f(x)=x(n-x) 0<x<m and hence deduce ZF_Q_O
1
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